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Introduction
In RAN2 #Ad Hoc 2 meeting, agreements about EN-DC were made:
Agreements
1	The UE sends RRCConnectionReconfigurationComplete message on the same SRB as receiving RRCConnectionReconfiguration message. And there are NO any exceptional cases for sending the complete messages.
2	LCID to be used for SCG-SRB and the SCG legs of the MCG split SRBs (SRB1 and SRB2) will be fixed in the spec.
3	SCG SRB is not supported on LTE (i.e. for NE-DC)
1	"SRB3" to be used for SCG-SRB
2	If we find that we need to use a term for SRB1[2] leg on SN then "SRB1S"[SRB2S] will be used.
In the agreement, LCID for SRB3 and SRB1S/SRB2S will be fixed in the spec, but how to specify the LCID is not discussed. The LCID in LTE is included in the specified configurations section. So this contribution will discuss the specified configurations of SRBs in SCG for EN-DC, i.e. SRB1S/SRB2S and SRB3. And the default configurations are also discussed in this contribution.
Discussion
Specified configurations
In LTE, the specified configurations for SRB include logicalChannelIdentity (LCID). The LCID for each SRB in LTE is as following:
	LCID for SRB in LTE

	SRB ID
	logicalChannelIdentity

	SRB1
	1

	SRB2
	2

	SRB1bis
	3


In NR, there are SRB1 and SRB2 for SA, and SRB1S, SRB2S and SRB3 for NSA. In order to make the specification more readable, the best way is to make the LCID align with the SRB ID if it is feasible. LTE configuration as baseline, the LCID of the SRB1/SRB2 can be 1/2 which is the same with that of LTE SRB1/SRB2. As the NR SRB1/SRB2 and SRB1S/SRB2S can’t be configured for one UE simultaneously, thus the LCID of SRB1S/SRB2S and SRB1/SRB2 can be same which make the LCID of the SCG leg of MCG split SRB (SRB1/SRB2) can align with the MCG leg too. The LCID of the SRB1S/SRB2S can be 1/2.
In LTE, the LCID of the SRB1bis which is used for C-IOT is 3. As for SRB3 in NR, agreement was made at RAN2#98 meeting, that security is always activated for a SCG SRB, considering the application scenario for SBR1bis in LTE, UE can’t be configured SRB1bis and SBR3 simultaneously if the SRB1bis is reused in NR. So the LCID for SRB3 set to 3 is feasible, which can align with the SRB ID of SRB3.
	LCID for SRB in NR

	SRB ID
	logicalChannelIdentity

	SRB1S/SRB1
	1

	SRB2S/SRB2
	2

	SRB3
	3



Proposal 1: The LCID of SRB1S/SRB2S should be the same with that of NR SRB1/SRB2 which can be 1/2 to align with the SRB ID. The LCID of the SRB3 should be 3.
Default configuration
The default configuration for SRB in LTE includes logical channel configuration and RLC configuration. The default configurations of the SRB1 and SRB2 are same except for the priority.
For NR SRB, default configuration should be specified. In order to reduce complexity of the specification work, the default configuration sets for NR SRB should be as less as possible. According to the principle, the default configuration of the SRB1 and SRB2 can be same except for the priority like that in LTE. Because one UE can’t be configured SRB1S/SRB2S and SRB1/SRB2 simultaneously, the default configuration of SRB1S/SRB2S can be same with SRB1/SRB2 too. 
At RAN2 #98 meeting, agreement was made: The default scheduling priorities of MCG split SRB1 and SCG SRB are same. The default configuration of SRB3 can be the same with that of SRB1 in NR. 
So there are only two sets of default configuration for NR, one set is for: SRB1, SRB1S and SRB3. Another set is for: SRB2 and SRB2s. The difference between the two sets is only the parameter of priority.
Proposal 2: The default configurations of SRB1S/SRB2S should be the same with that of NR SRB1/SRB2. The default configurations of NR SRB1 and SRB2 should be same except for the priority. The default configurations of the SRB3 should be the same with that of SRB1S.
Conclusion
In this contribution, we discuss the specified configurations and default configurations for SRB3 SRB1S and SRB2S and propose:
Proposal 1: The LCID of SRB1S/SRB2S should be the same with that of NR SRB1/SRB2 which can be 1/2 to align with the SRB ID. The LCID of the SRB3 should be 3.
Proposal 2: The default configurations of SRB1S/SRB2S should be the same with that of NR SRB1/SRB2. The default configurations of NR SRB1 and SRB2 should be same except for the priority. The default configurations of the SRB3 should be the same with that of SRB1S.
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